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B.Sc./B.H.Sc. I, II & III Examination, 2015
Environment and Rashtra Gaurav

UiaRvT 3iR G TRa

TimeAllowed : 1% Hours (90 Min.) ] [ Maximum Marks : 100

Each question has four alternatives marked (A), (B), (C) and (D). You have to darken
the circle on your OMR Answer Sheet corresponding to the correct answer. Please
use Blue or Black Ball-Point Pen.
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R IR & Tet [dhed & Mel D BT BIAT & HIAT et A7 Bl FTA-WIge I BT TN R |

Note: Answer all 100 questions from section-A and section-B.

e : WUs-31 TUT Wus-d & I 100 Y & R 2

Section - A : Environment

@Us - 3 : TATERUI
1. The Bacteria which have power of 1. e i g e ReRIGROT & &t
Nitrogen fixation - arar g-
(A) Streptomyces (A) RHEHS
(B) Penicillium (B) ufafaferom
(C) Nitrosomonas (C) AN
(D) Aspergillus (D) v=fster
2.  Which Biome has least biodiversity 2. PMF-1 IOH FE HH ofa-fafaerdr qen
and biomass- 319 ¥R I Y g-
(A) Tundra Biome (A) &1 o m
(B) Ocean Biome (B) WK §riE
(C) Forest Biome (C) &ira srm
(D) N YR I

(D) Grass land Biome
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Gas causing maximum destruction

fo ozone is -

(A) Liquid NH,

(B) SO,

(C) CH,

(D) CO

SO, pollution is indicated by -

(A) Grasses

(B) Mosses

(C) Lichen

(D) Bacteria

CO, and O, balance in atmosphere

is due to -

(A) Photo synthesis

(B) Respiration

(C) Leaf anatomy

(D) Photo respiration

Ecological Sucession

studied by -

(A) Odum

(B) Clements

(C) Hult

(D) King

B.O.D. is connected with-

(A) Organic matter

(B) Microbes

(C) Microbes and organic matter

(D) None of these

In India, rain forests are found in-

(A) Uttar Pradesh and Bihar

(B) Madhya Pradesh and Orissa

(C) Tamil Nadu and Andhra
Pradesh

(D) Western Ghats and Eastern

was first

Himalayas

.0.T.9

[<]

NS IRd BT TS &ROT HRA aTell
3

(A) TRa NH,

(B) SO,

(C) CH,

(D) CO

SO, JgHT BT b &-

(A) o

(B) AN

(C) ©irgeb

(D) ey

qTATaRoT H CO,dUT O, BT F<Ie [hdd
BROT & -

(A) YD HIONUT & HROT

(B) a9 & BRUT

(C) TRl I MAR® TGTT S BRUT
(D) YPRNT &9 & PRI
UIRRIf® STHAT &1 TATLH 31eaa
fopar T or-

(A) 308H gRI

(B) foerves gr

(C) &T 8N

(D) f& grr

B.O.D. Tiaferd ¢ -

(A) PE® gerelf 3

(B) &¥ Siai &

(C) &\ 3iial qn HlEd garedf &
(D) & ¥ ®I5 7Tl

URd ¥ 997 99 IR 3 ¢ -

(A) FR yaur o fagr #

(B) WEY T AT IS H

(C) afHemTg T 377y weer #
(D) ufkm °1c aum ot fewea |




10.

11.

12,

13.

14,

Cycling of components in ecologi-
cal system is called -

(A) Geological Cycle

(B) Bio-geological Cycle

(C) Bio-chemical Cycle

(D) Chemical Cycle

PAN is main -

(A) Soil pollutant

(B) Water pollutant

(C) Air pollutant

(D) Sound pollutant

The Aerosol which are released by
jets flying -

(A) CO

(B) CO,

(C) Fluorocarbons

(D) SO,

Which may be main cause of soil
pollution -

(A) Glass

(B) Plastic

(C) Detergent

(D) CO,

The part of cell which is affected
by SO, -

(A) Nucleus

(B) Membrane system

(C) Cellwall

(D) Plasmodesmeta

"Project Tiger" was launched in
India -

(A) 1973

(B) 1972

(C) 1971

(D) 1975
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10.

11.

12,

13.

14.

uTiRferfaed a=1 § dcal &1 THUT BHectTd

3
(A) 4-3- B

(B) Sla YNNG B
(C) 319 IMM™IG IH
(D) NG TP

PAN T&I %7 3 -

(A) eI ugud

(B) 3IcT UguDH

(C) a1g ugud

(D) & gy

F.fo. § 3 oF w1 Rda agaeEr 3§

froperar & -

(A) CO

(B) CO,

(C) TARIBIEA
(D) SO,

a1 YGHUT &1 HE™I HEedqul BRUT & -

(A) @
(B) wiicd
(C) 3MUHTSI®
(D) CO,

DL H TR 8% MRS (SO,) GRI

qTfaa 89 arelm W & -
(A) F<H

(B) I &1 fEectia=
(C) e faka

(D) w@rsHSHHET

HRA § a9 URATSHT BT FHRF 3T -

(A) 1973 ®
(B) 1972 #
(C) 1971 #®
(D) 1975 ®

oEE-A



15.

16.

17.

18.

19.

20.

21.

The main abiotic pollutant of soil

water is-
(A) Bacteria (B) Algae
(C) Arsenic (D) Virus

Which metal causes maximum

toxicity in human being-

(A) Zn (B) Pb

(C) Fe (D) Mg

Which of the following is primary
pollutant -

(A) So, (B) Co

(C) No, (D) All of these

Which hydrocarbon causes 'Leuke-
mia'?

(A) Benzene (B) Silica

(C) Asbestos (D) Coal dust
CNG is-

(A) Compressed Natural Gas
(B) Cynogen Natural Gas

(C) Condensed Nitrogen Gas
(D) Controlled Natural Gas
Which one of the following can pro-
vide both power and manures?
(A) Nuclear plants

(B) Thermal plants

(C) Biogas plant

(D) Hydroelectric plants

Which one of the following has ev-
ergreen forest -

(A) Malva Plateau

(B) Eastern Ghat

(C) Western Ghat

(D) Chhota nagpur plateau
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15.

16.

17.

18.

19.

20.

21.

YT ST B GO PR AT 3Tt

gD &

(A) STar] (B) Slard

(C) smii® (D) faumy

I A o1 AFG § it faurhT 3=
IR 2-

(A) Zn (B) Pb

(C) Fe (D) Mg

[.fa. 7 3 oF e e &
(A) SO, (B) CO

(C) NO, (D) =9 I W

B AT ERZIBET Ih HER 3T B!

&-

(A) =i+ (B) faferar

(C) TW9C (D) ®ad & gd
CNG # -

(A) ®BRE AR 14

(B) SEHGH JgRd i

(C) Fe38 ARGl

(D) TS IRt I

f.fa & 3 o otw aur @r a4 @
FHaT & -

(A) ™ o=

(B) aMa TI=A

(C) Srn Fa=

(D) TSI Sellagd Ta

f7.fa. 7 & B8l JaeER 39 U I §-
(A) ¥HIedT ToR

(B) gdiume

(C) uRTHr =

(D) BIeT ARR U6R




22. Which pollutant causes leaf curling?
(A) CO (B) H,S
(C) O, (D) SO,
23. Sewage water is purified by -
(A) Micro organism
(B) Light
(C) Fishes
(D) Aquatic plants
24. What is Mascot of 'World Wild Life
Fund' ?
(A) Bear (B) Tiger
(C) Deer (D) Panda
25. Which is not found in 'Photo
Chemical Smog' -
(A) Ozone
(B) CO,
(C) Nitrogen oxide
(D) PAN
26. 'Project Elephant' was launched in
the year -
(A) 1972 (B) 1992
(C) 1978 (D) 1962
27. Salim Ali is Known for -
(A) Trees (B) Birds
(C) Animals (D) Flowers
28. Which of the following is used in
pencil?
(A) Phosphorus
(B) Graphite
(C) Charcoal
(D) None of the above
.0.T.9

[€]

22.

23.

24.

25.

26.

27.

28.

DI 1 ygud utei § ufdl B geA
30 PR & -

(A) CO (B) H.S

(C) O (D) SO,

AT ST BT IYABRT ooam T &

(A) ge&d et gRI

(B) WbRT & gRI

(C) woferal grRT

(D) Seig et grr

fasg a=a Sfa ffer o e &

(A) HIeL (B) s

(C) T (D) Ui

BTl I+ THET & g &-
(A) 3=

(B) CO,

(C) IS HIdTgs
(D) PAN
BTN URDTSHT BT 3T g3 2T,

(A) 1972 (B) 1992

(C) 1978 (D) 1962

A 376l D ST ST 8-

(A) Wi & fere  (B) fufsal & fore

(C) Maxt & forw (D) it & fore
e d & Ufae 7 e 3ua grar &2
(A) BHRA

(B) UwrsT

(C) TR®IA

(D) IWRRE F F B &l

oEE-A



29.

30.

31.

32.

33.

34.

35.

Green colour of plant is due to -
(A) Mesophyll (B) Chlorophyll
(C) Leucoplast (D) Chromoplast
Blood bank of the body is :

(A) Spleen

(B) Heart

(C) Lungs

(D) None of the above

Pitcher plantis a -

(A) Desert plant

(B) Aquatic plant

(C) Insectivorous plant

(D) Large plant

Sound intensity is measured in -
(A) Watt (B) Decibel

(C) Joule (D) Calorie

Full form of I.I.T.R. is -

(A) Indian Institute of Toxicologi-
cal Research

Indian Institute of Tranquiliser
Research

Industrial Institute of Toxicol-
ogy Research

Indian Industrial Toxicological
Research

Green plants are also known as -
(A) Consumers

(B) Decomposers

(C) Producers

(D) Herbivores

Which of the is an oil yielding plant-
(A) Groundnut

(B) Mustard

(C) Coconut

(D) All of the above

(B)
(C)
(D)
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29.

30.

31.

32.

33.

34.

35.

[a]

gtel #§ &R AT BT BRUT B-

(C) B®Bs

(D) IR6 A I P &l
fiRR @ie vb 2-

(A) g aferm

(B) e utenm

(C) e dten

(D) T dfen

eafsy rgar &1 /T ST FhT & -
(A) de H (B) =UEd #
(C) @# (D) &oiNr#
31MS.378. 81, 3R &I qui & &-

(A) IR fay-fagm srRia™ dm=

(B) ¥R QageIeoR S I
(C) 3 fou-fosmm s S

(D) ¥R fou-fasm st S

= dtelf B BT ST @ -
(A) IUHH
(B) 3MUUTH
(C) 3D
(D) IMHERI

frafeiRaa 8 9 B9 da 9t B arel

dterr ¢ -

(A) Hrroeit
(B) w==r
(C) TIRTa
(D) 36 TN




36.

37.

38.

39.

40.

41.

42,

43.

C.I.M.A.P is situated in-

(A) Unnao (B) Lucknow
(C) Kanpur (D) Rai bareily
Which of the following is a medici-
nal plant?

(A) Tulsi

(B) Aloevera

(C) Neem

(D) All of the above

T.N.T is an-

(A) Fungicide (B) Explosive
(C) Cracker (D) All of these
Amonia, Ozone, Methane, NO, and
SO, are:

(A) Gaseous air pollutants

(B) Indoor air pollutants

(C) Water pollutants

(D) None of the above

An edible fungi is-

(A) Bread-mould

(B) Aspergillus

(C) Button mushroom

(D) All of the above

Potato is a kind of :

(A) Root (B) Stem

(C) Fruit (D) Leaf
Excessive nutrients in the water
causes :

(A) Sedimentation

(B) Eutrophication

(C) Salinization

(D) None of these

Stone leprosy is caused due to :
(A) SO, (B) Lightening
(C) Acidrain (D) Heavy rain
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36.

37.

38.

39.

40.

41.

42,

43.

.38 oA R 2 -

(A) 39@ (B) @43 |
(C) MR F (D) IR §
=1 & & Pia-1 sitwel dier &-
(A) ot

(B) UelfaRT

(C) m

(D) 399 & o

(A) BFE S (B) fawpies
(C) werT (D) 37 ¥ well

I, 3, |19, NO, d1 SO,

3

(A) oG vgud

(B) 3=IR® d1g Ig®

(C) SieT Ugud

(D) 3T ¥ BI$ el

TN ad Bha & -

(A) Ss-HAIcs

(B) vwfsias

(C) §ed Ay

(D) =9 I I

3] U bR Bl 2-

(A) S8 (B) o

(C) Bd (D) RN

ST H NG dedl Bl BT 3aT Bl

3

(A) ISR

(B) gl

(C) dAferrgarem

(D) 3T & BI5 el

TRR-BIg B BRI &-

(A) SO, (B) fooieh o TP

(C) 37T aui (D) HHMYR auf
JEE-A




44,

45,

46.

47.

48.

49,

50.

Protection of tree is not concerned
with :

(A) Reforestration

(B) Deforestration

(C) Afforestration

(D) Plantation

Atmospheric pressure is measured
by-
(A)
(B)

Barometer

Poto meter

(C) Galvonometer

(D) None of the above

Man, in food chain is -

(A) Producer

(B) Consumer

(C) Decomposer

(D) Carnivores

Lead (Pb) causes :

(A) Soil pollution

(B) Air pollution

(C) Radio active pollution

(D) All of above

Which is not a pollutant from ex-
haust of motor vehicle?

(A) Hydrocarbon gas

(B) Fly ash

(C) SO,

(D) CO

A Secondary pollutant is-

(A) CO (B) CO,

(C) PAN (D) Aerosol
Environmental pollution affects-
(A) Biotic components

(B) Plants only

(C) Man only

(D) Biotic and abiotic components
of Environment

.0.T.9
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44,

45,

46.

47.

48.

49,

50.

UST P IUI9 39 THErEd T8 8-
(A) GAaHIdROT

(B) 99ARM™E

(C) a=Rmur

(D) RIgor

TR &9 BT A fhar 7T 8-
(A) R & gRT

(B) UICHICR & GRI

(C) Heaariex & gRI

(D) &4 & @5 &l

@ e § T &

(A) 3D

(B) 3UHHI

(C) 3MucH

(D) HNTER!

g (Pb) 39 T & -

(A) el Seuur

(B) darg Heyur

(C) fawfrea yguor

(D) IWIP T

T areHl & e aret e § s

T 9gE® A&l el &

(A) EBRPE

(B) g U

(C) SO,

(D) CO

feaa® vgus & -

(A) CO (B) CO,

(C) PAN (D) R

ATATERONT YguoT Ffad = &-

(A) Sifas gl &

(B) Pact Usi @I

(C) ®ad o9& @

(D) TTdTaRYT F ST T i Teh
Gl




51.

52.

53.

54.

55.

Section - B : Rashtra Gaurav

QoS - § : G IR

Most important Ashrama is :

(A) Brahmacharya ashrama

(B) Grihastha ashrama

(C) Vanaprastha ashrama

(D) Sanyasa ashrama

In ancient India what type of the
organisation were the Guilds?

(A) Religious

(B) Commercial

(C) Political

(D) Social

Which was the country with whom
the trade was maximum during
Satavahana period?

(A) Rome

(B) Persia

(C) China

(D) Egypt

The main basis of economy during
the Vedic period was :

(A)
(B)
(C)
(D)

Leather

Pottery

Stone

Farming and domestication of
animals

Who was the greatest ruler of
Maurya dynasty?

(A) Bindusara

(B) Asoka

(C) Brihadratha

(D) Kunala

.0.T.9

51. waffers Aeayot amsm & -

52.

53.

54.

55.

[e]

(A) serad

(B) &<

(C) aru=a

(D) =™

IR 9Rd | ATt {54 YbR o1 e
off?

(A) et

(B) IMUIR®

(C) IeHfa®

(D) IS

AddTed &1 | o <91 & 1 31ferd
R &I a1?

(A) A
(B) XM
(C) =
(D) fas

afed BT # ST BT THE 3MIR
oA :

(A) Twel
(B) HgHIUS
(C) U=R

(D) PN v QR
A 991 BT HEMaH TS DI AT?

(A) SR
(B) 3mN®

(C) FEu
(D) pume

oEE-A



56.

57.

58.

59.

60.

61.

62.

Which one of the following script
is not found in the Asokan inscrip-
tions?

(A) Brahmi

(B) Kharoshthi

(C) Aremaic

(D) Devanagri

The founder of Ashtangayoga was
(A) Shrikrishna

(B) Vyasa

(C) Patanjali

(D) Kashyapa

Who expounded the 'Mandala’
theory of state?

(A)
(B)
(C) Manu

(D) Bhishma

Ramayana was composed by :
(A) Valmiki (B) Tulsidasa
(C) Kabir (D) Vyasa
Varanasi city is situated on the

Kautilya
Kamandaka

bank of the river :

(A) Yamuna (B) Ghaghara
(C) Gomati (D) Ganga
Rigvedic Varuna was the god of :
(A) Fire (B) Water

(C) Sky (D) Forest
Khajuraho temples were con-
structed during the reign of :

(A)
(B)
(©)
(D)

Paramaras
Pratiharas
Chandellas
Kalchuris

.0.T.9
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56.

57.

58.

59.

60.

61.

62.

3N & fierdl # o @ faf T8
TR TP

(A) sal

(B) RIS

(C) 3RUSD

(D) TGANRY
312CHT AN & Yaxicp o -

(A) Hipwr

(B) =g

(C) udairet

(D) %I

159 BT ‘Husel g o1 ufdare feam

fpar?

(A) ®ifeca

(B) PH=<H

(C) w3

(D) #w

IMRI0 & IR & -

(A) arifs (B) goeies
(C) ®eR (D) o

IRV TR 5 78 & de R Reye 22
(A) Tg (B) @RI

(C) T (D) T

Frdfesd gwuT fhad dadr I?

(A) 3 (B) 3@

(C) 3meprer (D) o

GRTE! & AR &I [+afoT i rataeT
P IIDI ° BRI AT?

(A) AR

(B) WfER

(C) T=d

(D) ergR



63. The famous Gayatri mantra is 63. YN AT 97 foad e ¢
found in : (A) T
(A) Rigveda (B) s
(B) Atharvaveda
(C) Upanishada (C) 3t
(D) Puranas (D) 9RmOT
64. Ajanta caves are situated at : 64. 3T &I THIE R & -
(A) Kerala (A) o=d
(B) Karnataka (B) PAlcH
(C) Tamilnadu (C) df¥rerg
(D) Maharashtra (D) WERTS:
65. Ajanta paintings are related to : 65. 31atT &1 RFGar & T\ &
(A) Brahmanism (A) STEIT &H
(B) Jainism (B) > ¥
(C) Ajivaka sect (C) 3maiifas TwEm™
(D) Buddhism (D) dx e
66. The style of the North Indian 66. IR ARG AT B oell &
temples is : (A) TR
(A) Nagara (B) FHIEES
(B) Dravida (C) AR
(C) Vessara _
(D) None (D) T et
67. Where the Zero invented? 67. XA @I AP et g3m?
(A) Greece (B) Arab (A) g™ (B) 3R«
(C) India (D) China (C) ¥Rd (D) TN
68. The great bath of Indus Valley 68. T\ﬁv% quar ¥ faenme SR fier &
Civilisation is found at : (A) PreiEm I
(A) Kalibangan (B) Aerer
(B) Lothal
(C) Mohenjodaro () 9
(D) Harappa (D) &wr
.0.T.4 [LL] 9EE-A



69. Planning of the roads of Indus Val-
ley Civilisation was :
(A) Apsidal
(B) Intersecting each other at
right angle
(C) Triangular
(D) Circular
70. Numbers of Vedas are :
(A) 1 (B) 2
(C) 3 (D) 4
71. Which one of the following Vedas
was the earliest composition?
(A) Rigveda
(B) Yajurveda
(C) Samaveda
(D) Atharvaveda
72. Vivaha samsakara is related to?
(A) Brahmacharya ashrama
(B) Grihastha ashrama
(C) Vanaprastha ashrama
(D) Sanyasa ashrama
73. Which one of the following sites is
not related to the Indus Civilisation?
(A) Mohenjodaro
(B) Harappa
(C) Hastinapur
(D) Lothal
74. Which one of the following does
not form part of Vedic literature?
(A) Vedic Samhitas
(B) Brahmanas
(C) Upanishadas
(D) Puranas
.0.T.9
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69.

70.

71.

72.

73.

74.

Ri=g) T & Asd! BT 9w o
(A) garad

(B) TH TR Pl FHADIV R HIed! &
(C) PreproT

(D) MATBR

3l & e @

(A) 1 (B) 2

(C) 3 (D) 4

F=fafea & @ &9 @1 3¢ y=aw
BT 77

(A) i

(B) Tda

(C) ¥mWde

(D) 3rdda

fare TvpR grafeE 2

(A) sErd

(B) e

(C) T

(D) IO
fr=foiiad & 31 o9 v v a3
Trafera T8 ¢ -

(A) HrEsieg!

(B) &gwl

(C) BRATR

(D) I

FreafaRea & ¥ o dte afea &1
" TRl 8?

(A) e <fgarm

(B) STEIOT T

(C) 3Jufme

(D) TRMOT




75.

76.

77.

78.

79.

80.

81.

Who of the following was not the
Vedic god?
(A) Indra
(C) Surya
The name of Asoka's son who

(B) Varuna
(D) Hanuman

went of propagate Buddhism in
Shri Lanka was :

(A) Mahendra (B) Tissa

(C) Tivar (D) Kunala

The number of Lord Vishnu's in-
carnation is:

(A) Nine (B) Eight

(C) Seven (D) Ten

'Sabha' and 'Samiti' are first men-
tioned in :

(A) Vedas

(B) Puranas

(C) Ramayana

(D) Mahabharata

Which is not related to astrology?
(A) Gargi Samhita

(B) Samasa Sambhita

(C) Charaka Sambhita

(D) Brihata Samhita

According to India Astrology the
number of grahas are:

(A) 8 (B) 7

(C) 9 (D) 10

Who was the founder of Nanda
Empire?

(A) Mahapadmananda

(B) Ajatashatru

(C) Chandragupta

(D) Bimbisara
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75.

76.

77.

78.

frfeiRaa o 9 o9 dfes eaar =&l &»

(A) < (B) @wur

(C) w (D) &AM

3RN® & 39 Y7 BT a1 9 AT 3 g
e BT JaR aR & e shedr T or?
(A) W= () foww

(C) R (D) Putme

W faw] & 3Ear o T @
(A) 9 (B) 8

(C) 7 (D) 10

[T 3R AT BT FAIUH eoid g3
g

(A) dai |

(B) GR #

(C) MTIoT |

(D) WETHRA H

79. B sofawere § gfed T8 &7

80.

81.

[E1]

(A) T wfgar
(B) A wfgdr
(C) ™Rap Hfea
(D) gecHfe

RART SAMY S SFAR Tl B T & -
(A) 8 (B) 7

(C) 9
d¢ 99 & ARIUS DI AT?

(D) 10

(A) WEYEH <
(B) 3ratIery

(C) T
(D) fefisar
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82.

83.

84.

85.

86.

87.

Kautilya was the author of:
(A)
(B)
(©)
(D)
The
are:
(A) 24 (B) 22

(C) 23 (D) 25

According to Atharvaveda who

Ramayana

Arthasastra

Nitisastra

Manusmriti

number of Jain Tirthankaras

identified and counted Nakshatra
for the first time in the sky?

(A) Kashyapa

(B) Narada

(C) Gargamuni

(D) Manu

Who was the
Panchasiddhantika?
(A) Aryabhatta

(B) Varahamihira
(C) Bhaskaracharya
(D) Vyasa
Salakyatantra is not related to:
(A) Ear (B) Nose

(C) Heart (D) Throat
The cause of Luner eclipse is:

writer of

(A) The location of earth between
sun and moon.

(B) The location of moon be-
tween earth and sun

(C) The location of sun between
earth and moon

(D) Distance of moon from the

earth
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82.

83.

84.

85.

86.

87.

AN o AN o
dllced [apxia Xdiddl ?j'?

(A) TERIOT

(B) 3refem

(C) fceme

(D) e

S ARt & G=T &

(A) 24 (B) 22

(C) 23 (D) 25

3IddE & SRR foham Fawem 3dmT

# A& B UgaHT 3R FADH! TUMET Hi?
(A) ®gu

(B) ARE

(C) g

(D) %3

TaiNrgifae & oas B a?
(A) 3mdwg

(B) MR

(C) HRRME

(D) =¥

eI fHas waferd T8t 87
(A) & (B) &

(C) & (D) Trem
TSRO BT HRUT Bl & -

(A) I 3R T & dra gedt &f Reafa

(B) I 3R gedt & oy g o Rufer
(C) yedt 3iR T & ara g &f Refa

(D) 9ol & T BN



88.

89.

90.

91.

92.

93.

94.

Brihatasamhita was written by:
(A) Varahamihira

(B) Banabhatta

(C) Kalhana

(D) Patanjali

Which text is important for the
study of Buddhist Architecture?
(A) Abhidhamma Pitaka

(B) Vinaya Pitaka

(C) Sutta Pitaka

(D) Buddha Charita

Peacock is the mount of:

(A) Siva (B) Vishnu

(C) Kartikeya (D) Ganesha
Who composed Mahabharata?
(A) Valmiki

(B) Panini

(C) Suradasa

(D) Veda Vyasa

Ayodhya is situated on the bank
of river:

(A) Ganga
(C) Sarayu
The
Bhubanesvarais in the state of:
(A) Odisha

(B) Gujarat

(C) Madhya Pradesh

(D) Tamil Nadu

Who was the propounder of

(B) Yamuna
(D) Gomati
Lingaraja

Temple of

Sankhya philosophy?
(A) Kapila (B) Patanjali
(C) Kashyapa (D) Vyasa
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88.

89.

90.

91.

92.

93.

94.

e EdT & TTHIBR & -
(A) REfR

(B) smUTHE

(C) Hegur

(D) udsIter

dte WU & 3reaaE & fow B 4G
W FEqul &7

(A) 3ifirer fues

(B) fo1a fes

(C) ¥ ficd

(D) §& TR

wR ot ares 82

(A) fora (B) fawy
(C) ®ifdda (D) O
HETHRA & T fhee &1
(A) dTeHIB

(B) urforfa

(C) e
(D) deaTg

ez foe 7 & fR Rera &
(B) g

(C) ¥ (D) Tl

Yo R @1 foimRrer #iR oo s #
Rera 2-

(A) Jgra

(B) TGRId #
(C) HeTweer

(D) dfterrg

R g9 BT TRIUD DI TP
(A) Siud (B) udsifer

(C) ®=uu (D) ==

(A) T

oEE-A



95.

96.

97.

98.

99.

Which was not a Mahajanapada
during the 6" century B.C.?

(A) Magadha

(B) Avanti

(C) Kapilavastu

(D) Kosala

Which theory of the origin of State
is not mentioned in the Shantiparva
of Mahabharata?

(A) Contract theory

(B) Divine theory

(C) Theory of Evolution

(D) None of these

The theory of divine origin of state
is not mentioned in :

(A) Atharvaveda

(B) Ashtadhyayi

(C) Mahabharata

(D) Arthasastra

To which of the following deity is
the famous Gayatri mantra ad-

dressed?
(A) Indra (B) Savitri
(C) Varuna (D) Vishnu

What was the normal form of gov-
ernment in the Vedic period?
(A) Monarchy (B) Oligarchy

(C) Republic (D) Democracy

100.Samavartana Samsakara was per-

formed:
(A) After the completion of edu-
cation

(B)
(€)
(D)

During marriage
Before beginning of education
After death
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95.

96.

97.

98.

99.

B! TaTE! 3.9, § B HeToUe &l a1?
(A) HIY

(B) sraf

(C) wiueawg

(D) It

AEIVRd & onfd ud § 5T 3@ &
foa faga &1 3o 81 29

(A) 33 Rigr=

(B) & fagma

(C) faprar g

(D) & & PIS el

5T oF 3@ F1 & Ragra &1 3w
foer Trer & 2 &

(A) 37rdde

(B) 3rcTemy

(C) HETHRd

(D) 3refeme

fh <gar & uiag A 7 eI
foar mar &2

(A) 5% (B) wfafx
(C) awur (D) faey
Aed B T I TR B A
TGRY FT AT?
(A) STaa
(C) ToTT=

(B) 31cadd
(D) @Haa

100. 99190 IhR fosar sar e -

(A) TRrem gul &= & IR~
(B) faae & 99a

(C) TRrem yR™ ax+ & 7@
(D) UG & UIIq



